

# Simple proof of a useful pointwise estimate for the wave equation

Nikodem Szpak

*Max-Planck-Institut für Gravitationsphysik,  
Albert-Einstein-Institut, Golm, Germany*

(Dated: January 22, 2008)

We give a simple proof of a pointwise decay estimate stated in two versions, making advantage of a particular simplicity of inverting the spherically symmetric wave operator and of the comparison theorem. We briefly explain the role of this estimate in proving decay estimates for nonlinear wave equations or wave equations with potential terms.

## I. INTRODUCTION

### A. Main result

We consider a wave equation with source

$$\square\phi(t, x) = F(t, x) \quad (1)$$

in 3 spatial dimensions, where  $\square \equiv \partial_t^2 - \Delta$ , subject to null initial data  $(\phi, \partial_t\phi)(0, x) = (0, 0)$ . We will use the notation  $\langle x \rangle := 1 + |x|$ . The main result of this note is a simple proof of the following very useful estimate

**Lemma 1.** *If*

$$|F(t, x)| \leq \frac{A}{\langle t + |x| \rangle^p \langle t - |x| \rangle^q} \quad (2)$$

*with  $p > 2$ ,  $q > 1$  then*

$$|\phi(t, x)| \leq \frac{C}{\langle t + |x| \rangle \langle t - |x| \rangle^{p-2}} \quad (3)$$

*with some positive constant  $C$ .*

It extends to a slightly more complicated and also very useful estimate

**Lemma 2.** *If*

$$|F(t, x)| \leq \frac{A}{\langle x \rangle^\lambda \langle t + |x| \rangle^p \langle t - |x| \rangle^q} \quad (4)$$

*with  $p > 0$ ,  $q > 1$ ,  $\lambda > 2$  then*

$$|\phi(t, x)| \leq \frac{C}{\langle t + |x| \rangle \langle t - |x| \rangle^\nu} \quad (5)$$

*with  $\nu := p + \min(q, \lambda - 1) - 1$  and some positive constant  $C$ .*

Observe that in case  $q \geq \lambda - 1$  we have  $\nu = p + \lambda - 2$  and lemma 2 implies lemma 1, because condition (4) implies condition (2) with  $p \rightarrow p + \lambda$ .

The techniques of both proofs are based on the well known comparison theorem.

**Theorem 1.** *If  $\phi_1, \phi_2$  solve*

$$\square\phi_1 = F_1, \quad \square\phi_2 = F_2 \quad (6)$$

*with null initial data and  $F_1(t, x) \leq F_2(t, x)$  for all  $(t, x) \in \mathbb{R}_+^{1+3}$  then*

$$\phi_1(t, x) \leq \phi_2(t, x) \quad \forall (t, x) \in \mathbb{R}_+^{1+3}. \quad (7)$$

*Proof.* It follows from the fact that  $\square^{-1}$  is a measure on  $\mathbb{R}_+^{1+3}$  and hence as an operator has a positive kernel. Then,  $\phi_2 - \phi_1 = \square^{-1}(F_2 - F_1) \geq 0$  when  $F_2 - F_1 \geq 0$ .  $\square$

Its immediate consequence is a bound

**Corollary 1.** *If  $\phi_1, \phi_2$  solve*

$$\square\phi_1 = F_1, \quad \square\phi_2 = F_2 \geq 0 \quad (8)$$

*with null initial data and  $|F_1(t, x)| \leq F_2(t, x)$  for all  $(t, x) \in \mathbb{R}_+^{1+3}$  then*

$$|\phi_1(t, x)| \leq \phi_2(t, x) \quad \forall (t, x) \in \mathbb{R}_+^{1+3}. \quad (9)$$

*Proof.* It is enough to use theorem 1 twice, once with  $F_1(t, x) \leq F_2(t, x)$  and once with  $-F_1(t, x) \leq F_2(t, x)$ . We obtain then  $\phi_1(t, x) \leq \phi_2(t, x)$  and  $-\phi_1(t, x) \leq \phi_2(t, x)$  and hence  $|\phi_1(t, x)| \leq \phi_2(t, x)$ .

Observe, that one can use also theorem 1 with  $0 \leq F_2(t, x)$  to show that  $0 \leq \phi_2(t, x)$ .  $\square$

Alinhac has used a similar technique in [6] for proving a different estimate of this type. Previously, in [1, 2, 3, 4, 5], more involved techniques have been used, based essentially on the integral (Duhamel) representation of the exact solution and estimation of the integrals over light-cones in space-time.

## B. Idea of the proof

The main idea of the proofs of lemma 1 and lemma 2 is that we estimate the source  $|F(t, x)|$  by a source  $G(t, r)$  which is spherically symmetric. For this source we can much more easily estimate the solutions  $\varphi(t, r)$  of the corresponding equation (1), which are spherically symmetric as well. Finally, the obtained bound on  $\varphi(t, r)$  presents, by corollary 1, a bound on  $\phi(t, x)$ , too. Below, we explain below the main steps of the proof of lemma 1. The spirit of the proof of lemma 2 is the same.

In spherical symmetry (in 3 spatial dimensions) the wave equation reads

$$\partial_t^2 \varphi - \frac{1}{r} \partial_r^2 (r\varphi) = G, \quad (10)$$

with spherically symmetric source

$$G(t, r) = \frac{A}{\langle t+r \rangle^p \langle t-r \rangle^q}, \quad (11)$$

what guarantees that  $\varphi$  is also spherically symmetric. Introducing new coordinates  $u = t+r$  and  $v = t-r$  with  $u \geq 0$ ,  $|v| \leq u$ , and new variables  $\psi(u, v) := r\varphi(t, r)$  and  $H(u, v) := rG(t, r)$  we get

$$4\partial_v \partial_u \psi(u, v) = H(u, v). \quad (12)$$

This equation can be first integrated to

$$\partial_u \psi(u, v) = \frac{1}{4} \int_{-u}^v H(u, v') dv' + (\partial_u \psi)(u, -u), \quad (13)$$

where the last term vanishes on the basis of the initial conditions

$$(\partial_u \psi)(u, -u) = \frac{1}{2} \varphi(0, u) + \frac{u}{2} (\partial_t \varphi)(0, u) + \frac{u}{2} (\partial_r \varphi)(0, u) = 0. \quad (14)$$

Then we can integrate again and find

$$\psi(u, v) = \frac{1}{4} \int_{|v|}^u \left( \int_{-u'}^v H(u', v') dv' \right) du' + \psi(|v|, v), \quad (15)$$

where the last term vanishes again because  $\psi(|v|, v) = \frac{|v|-v}{2} \varphi\left(\frac{|v|+v}{2}, \frac{|v|-v}{2}\right)$  what is equal to either  $0 \cdot \varphi(v, 0) = 0$  for  $v \geq 0$  or  $|v| \varphi(0, |v|)$  for  $v < 0$ , which is zero on the basis of the initial conditions.

The double integral can be relatively easy estimated, because  $H$  has a very simple form in variables  $(u, v)$

$$H(u, v) = \frac{u-v}{2} G\left(\frac{u+v}{2}, \frac{u-v}{2}\right) = \frac{A}{2} \frac{u-v}{\langle u \rangle^p \langle v \rangle^q} \quad (16)$$

## II. PROOFS

### A. Proof of lemma 1

*Proof.* As explained in section IB we first prove an estimate for the spherically symmetric  $\varphi(t, r)$  solving (10) with the source  $G(t, r)$  satisfying (11). With the notation as in section IB we have

$$\partial_u \psi(u, v) = \frac{A}{8} \int_{-u}^v \frac{u-v'}{\langle u \rangle^p \langle v' \rangle^q} dv' = \frac{A}{8} \left[ \underbrace{\frac{u}{\langle u \rangle^p} \int_{-u}^v \frac{dv'}{\langle v' \rangle^q}}_{I_1} + \frac{1}{\langle u \rangle^p} \underbrace{\int_{-u}^v \frac{-v' dv'}{\langle v' \rangle^q}}_{I_2} \right] \quad (17)$$

We estimate the first integral

$$I_1 = \int_{-u}^v \frac{dv'}{(1+|v'|)^q} \leq 2 \int_0^u \frac{dv'}{(1+v')^q} \leq 2 \int_0^\infty \frac{dv'}{(1+v')^q} = \frac{2}{q-1} \quad (18)$$

for  $q > 1$ . A better estimate can be obtained for the case  $v < 0$ , but we want to have a universal formula for all values of  $v$ . Since  $I_1 = \mathcal{O}(1)$ , it is enough to show the same for  $I_2$ . Better estimates are possible, but will not bring any advantage here. We can write

$$I_2 = \int_{-v}^u \frac{v' dv'}{(1+|v'|)^q} = \underbrace{\int_{-v}^{|v|} \frac{v' dv'}{(1+|v'|)^q}}_{=0} + \int_{|v|}^u \frac{v' dv'}{(1+|v'|)^q} \leq \int_0^\infty \frac{v' dv'}{(1+v')^q} = \frac{1}{(p-1)(p-2)} \quad (19)$$

for  $p > 2$ . Then, we get

$$\partial_u \psi(u, v) \leq \frac{A}{8} \left[ \frac{u}{\langle u \rangle^p} \frac{2}{q-1} + \frac{1}{\langle u \rangle^p} \frac{1}{(p-1)(p-2)} \right] \leq \frac{B}{\langle u \rangle^{p-1}} \quad (20)$$

with  $B := \frac{1}{8} \left( \frac{2}{q-1} + \frac{1}{(p-1)(p-2)} \right)$ . As next we have

$$\psi(u, v) = \int_{|v|}^u \partial_u \psi(u', v) du' \leq B \int_{|v|}^u \frac{du'}{\langle u' \rangle^{p-1}} \quad (21)$$

and we find

$$\int_{|v|}^u \frac{du'}{\langle u' \rangle^{p-1}} = \frac{1}{p-2} \left[ \frac{1}{\langle v \rangle^{p-2}} - \frac{1}{\langle u \rangle^{p-2}} \right] = \frac{1}{p-2} \frac{1}{\langle v \rangle^{p-2}} \left[ 1 - \left( \frac{1+|v|}{1+u} \right)^{p-2} \right]. \quad (22)$$

We use an easy to prove inequality for  $\nu > 0$  and  $0 \leq x \leq 1$

$$1 - x^\nu \leq \max(1, \nu)(1 - x) \quad (23)$$

and get

$$1 - \left( \frac{1+|v|}{1+u} \right)^{p-2} \leq \max(1, p-2) \left( 1 - \frac{1+|v|}{1+u} \right) = \max(1, p-2) \frac{2 \min(t, r)}{\langle u \rangle}. \quad (24)$$

It leads to

$$\psi(u, v) \leq C \frac{\min(t, r)}{\langle v \rangle^{p-2} \langle u \rangle} \quad (25)$$

with  $C := 2B \max\left(1, \frac{1}{p-2}\right)$ . Finally, we find

$$\varphi(t, r) = \frac{1}{r} \psi(u, v) \leq C \frac{\min(t, r)}{r \langle v \rangle^{p-2} \langle u \rangle} \leq \frac{C}{\langle t-r \rangle^{p-2} \langle t+r \rangle}. \quad (26)$$

Thus we have an estimate for  $\varphi(t, r)$  satisfying  $\square \varphi = G$  with  $G$  given by (11). Now, we use the comparison theorem and its corollary 1. Since, by (2),  $|F(t, x)| \leq G(t, |x|)$ , we get  $|\phi(t, x)| \leq \varphi(t, |x|)$  what, together with the last estimate, finishes the proof of lemma 1.  $\square$

## B. Proof of lemma 2

*Proof.* Again, we first prove an estimate for the spherically symmetric  $\varphi(t, r)$  solving (10) with the source  $G(t, r)$  which is now

$$G(t, r) = \frac{A}{\langle r \rangle^\lambda \langle t+r \rangle^p \langle t-r \rangle^q}. \quad (27)$$

In this case we have

$$\begin{aligned} \partial_u \psi(u, v) &= \frac{A}{8} \int_{-u}^v \frac{u-v'}{\langle u-v' \rangle^\lambda \langle u \rangle^p \langle v' \rangle^q} dv' \leq \frac{A}{8 \langle u \rangle^p} \int_{-u}^v \frac{dv'}{\langle u-v' \rangle^{\lambda-1} \langle v' \rangle^q} \\ &\leq \frac{A}{8 \langle u \rangle^p} \left[ \underbrace{\int_0^u \frac{dv'}{\langle u+v' \rangle^{\lambda-1} \langle v' \rangle^q}}_{I_1} + \underbrace{\int_0^{|v|} \frac{dv'}{\langle u-v' \rangle^{\lambda-1} \langle v' \rangle^q}}_{I_2} \right] \end{aligned} \quad (28)$$

We estimate the first integral

$$\begin{aligned} I_1 &= \frac{1}{(1+u)^{\lambda-1}} \int_0^u \frac{dv'}{\left(1 + \frac{v'}{1+u}\right)^{\lambda-1} (1+v')^q} \leq \frac{1}{(1+u)^{\lambda-1}} \int_0^u \frac{dv'}{(1+v')^q} \\ &\leq \frac{1}{(1+u)^{\lambda-1}} \int_0^\infty \frac{dv'}{(1+v')^q} = \frac{1}{(q-1)} \frac{1}{(1+u)^{\lambda-1}} \end{aligned} \quad (29)$$

for  $q > 1$ . As before, a better estimate can be obtained for the case  $v < 0$ , but we want to have a universal formula for all values of  $v$ . We estimate the second integral introducing  $\mu := \min(q, \lambda - 1)$

$$\begin{aligned} I_2 &\leq \int_0^{|v|} \frac{dv'}{(1+u-v')^\mu (1+v')^\mu} = \int_0^{|v|} \frac{dv'}{[1+u+v'(u-v')]^\mu} \\ &= \frac{1}{(1+u)^\mu} \int_0^{|v|} \frac{dv'}{\left(1 + \frac{v'(u-v')}{1+u}\right)^\mu} \leq \frac{1}{(1+u)^\mu} 2 \int_0^{u/2} \frac{dv'}{\left(1 + \frac{v'(u-v')}{1+u}\right)^\mu} \end{aligned} \quad (30)$$

because  $v'(u-v')$  is positive for  $0 \leq v' \leq u$  and symmetric around  $v' = u/2$ . Further, using the fact that  $v'(u-v') \geq uv'/2$  for  $v' \leq u/2$ , we have

$$I_2 \leq \frac{2}{(1+u)^\mu} \int_0^{u/2} \frac{dv'}{\left(1 + \frac{uv'}{2(1+u)}\right)^\mu} \quad (31)$$

and the last integral can be split into two and estimated by

$$\begin{aligned} 2 \int_0^{u/2} \frac{dv'}{\left(1 + \frac{uv'}{2(1+u)}\right)^\mu} &= 4 \left(1 + \frac{1}{u}\right) \int_0^{\frac{u^2}{4(1+u)}} \frac{dw}{(1+w)^\mu} \\ &\leq 4 \int_0^\infty \frac{dw}{(1+w)^\mu} + \int_0^{\frac{u}{1+u}} \frac{dw}{\left(1 + \frac{u}{4}w\right)^\mu} \leq \frac{4}{\mu-1} + \frac{u}{1+u} \leq \frac{4}{\mu-1} + 1 \end{aligned} \quad (32)$$

for  $\mu > 1$ . Then, we get

$$\partial_u \psi(u, v) \leq \frac{A}{8\langle u \rangle^p} \left[ \frac{1}{(q-1)} \frac{1}{(1+u)^{\lambda-1}} + \frac{\frac{4}{\mu-1} + 1}{(1+u)^\mu} \right] \leq \frac{B}{\langle u \rangle^{p+\mu}} \quad (33)$$

with  $B := \frac{1}{8} \left(1 + \frac{1}{q-1} + \frac{4}{\mu-1}\right) \leq \frac{1}{8} \left(1 + \frac{5}{\mu-1}\right)$ . As next we have

$$\psi(u, v) = \int_{|v|}^u \partial_u \psi(u', v) du' \leq B \int_{|v|}^u \frac{du'}{\langle u' \rangle^{p+\mu}} = \frac{B}{(p+\mu-1)} \left[ \frac{1}{\langle v \rangle^{p+\mu-1}} - \frac{1}{\langle u \rangle^{p+\mu-1}} \right] \quad (34)$$

for  $p + \mu > 1$ , what can be estimated, like in the proof of lemma 1, by

$$\psi(u, v) \leq \frac{\max(1, p + \mu - 1)B}{(p + \mu - 1)} \frac{2 \min(t, r)}{\langle v \rangle^{p+\mu-1} \langle u \rangle} \leq 2B \frac{\min(t, r)}{\langle v \rangle^{p+\mu-1} \langle u \rangle}. \quad (35)$$

Finally, we find

$$\varphi(t, r) = \frac{1}{r} \psi(u, v) \leq 2B \frac{\min(t, r)}{r \langle v \rangle^{p+\mu-1} \langle u \rangle} \leq \frac{C}{\langle t-r \rangle^{p+\mu-1} \langle t+r \rangle}, \quad (36)$$

where  $C := \frac{1}{4} \left(1 + \frac{1}{q-1} + \frac{4}{\mu-1}\right)$ . Thus we have an estimate for  $\varphi(t, r)$  satisfying  $\square \varphi = G$  with  $G$  given by (27). Corollary 1 implies that from (4), i.e.  $|F(t, x)| \leq G(t, |x|)$ , follows  $|\phi(t, x)| \leq \varphi(t, |x|)$  what, together with the last estimate, finishes the proof of lemma 2.  $\square$

### III. APPLICATIONS

#### A. Lemma 1 – nonlinear wave equation

We only briefly sketch the main application of lemma 1, referring the reader interested in the details to the literature addressing the concrete problems [1, 2, 3, 4]. One of them is the main step in the proof of existence and decay of solutions to a nonlinear wave equation

$$\square\phi = F(\phi) \quad (37)$$

where the nonlinear term is such that  $|F(\phi)| \leq A|\phi|^p$  and  $p > 1 + \sqrt{2}$ . The proof usually uses iteration  $\square\phi_{n+1} = F(\phi_n)$  and induction in  $n$ , where one assumes

$$|\phi_n| \leq \frac{C_n}{\langle t + |x| \rangle \langle t - |x| \rangle^\lambda} \quad (38)$$

and must show the same estimate for  $\phi_{n+1}$ . Then one has

$$|F(\phi_n)| \leq \frac{A(C_n)^p}{\langle t + |x| \rangle^p \langle t - |x| \rangle^{p\lambda}} \quad (39)$$

and by lemma 1 one gets for  $p > 2$  and  $q := p\lambda > 1$

$$|\phi_{n+1}| \leq \frac{C_{n+1}}{\langle t + |x| \rangle \langle t - |x| \rangle^{q-1}}. \quad (40)$$

The iteration closes when  $p - 2 \geq \lambda$ . Choosing the optimal (biggest) value  $\lambda := p - 2$  the remaining conditions reduce to  $p(p - 2) > 1$ ,  $p > 2$  what gives  $p > 1 + \sqrt{2}$ . Then, one needs only to show that the sequence  $\phi_n$  is Cauchy w.r.t. the norm  $\|\phi\|_{L_{1,p}^\infty} := \|\langle t + |x| \rangle \langle t - |x| \rangle^{p-1} \phi(t, x)\|_{L^\infty(\mathbb{R}_+^{1+3})}$  and since the normed space (a weighted- $L^\infty$  space) is Banach, the sequence  $\phi_n$  converges to a solution of the nonlinear wave equation (37).

#### B. Lemma 2 – linear wave equation with potential

Here, we sketch an important application of lemma 2, which is the main estimate in the proof of existence and decay of solutions to a wave equation with a potential term (referring the reader to [3, 4, 5] for the details)

$$\square\phi + Vu = 0 \quad (41)$$

where the potential is bounded by  $|V(x)| \leq V_0/\langle x \rangle^\lambda$  with  $\lambda > 2$ . The proof again uses iteration  $\square\phi_{n+1} = -V\phi_n$  and induction in  $n$ , where one analogously assumes

$$|\phi_n| \leq \frac{C_n}{\langle t + |x| \rangle \langle t - |x| \rangle^{q-1}} \quad (42)$$

and must show the same for  $\phi_{n+1}$ . Then

$$|V\phi_n| \leq \frac{V_0 C_n}{\langle x \rangle^\lambda \langle t + |x| \rangle \langle t - |x| \rangle^{q-1}} \quad (43)$$

and by lemma 2 one gets for  $\lambda > 2$ ,  $q - 1 > 1$  and  $p := 1$

$$|\phi_{n+1}| \leq \frac{C_{n+1}}{\langle t + |x| \rangle \langle t - |x| \rangle^\nu}, \quad (44)$$

where  $\nu := \min(q - 1, \lambda - 1)$ . The iteration closes when  $\nu \geq q - 1$ , i.e. when  $q \leq \lambda$  (the optimal value is  $q := \lambda$ ). Then, again, it remains only to show that the sequence  $\phi_n$  is Cauchy w.r.t. the norm  $\|\phi\|_{L_{1,q}^\infty} := \|\langle t + |x| \rangle \langle t - |x| \rangle^{q-1} \phi(t, x)\|_{L^\infty(\mathbb{R}_+^{1+3})}$  and then  $\phi_n$  converges to a solution of the wave equation with potential (41).

- [1] F. John. Blow-up of solutions of nonlinear wave equations in three space dimensions. *Manuscripta Math.*, (28):235–268, 1979.
- [2] Asakura F. Existence of a global solution to a semi-linear wave equation with slowly decreasing initial data in three space dimensions. *Comm. Part. Diff. Eq.*, 13(11):1459–1487, 1986.
- [3] W. Strauss and K. Tsutaya. Existence and blow up of small amplitude nonlinear waves with a negative potential. *Discr. Cont. Dynamical Systems*, 3(2):175–188, 1997.
- [4] V. Georgiev, Ch. Heiming, and H. Kubo. Supercritical semilinear wave equation with non-negative potential. *Comm. Partial Diff. Eq.*, 11-12(26):2267–2303, 2001.
- [5] N. Szpak. Weighted- $L^\infty$  and pointwise space-time decay estimates for wave equations with potentials and initial data of low regularity. 2007. arXiv: math-ph/0708.1185.
- [6] S. Alinhac. Semilinear hyperbolic systems with blowup at infinity. *Indiana Univ. Math. J.*, (55):1209–1232, 2006.